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Give it to him; she is not nwTpn — NWTIPR TR 1BEY 21N

OVERVIEW

The X773 cites two sections of a Xn>72 with three cases. The first section
discusses the two cases of 72X X2aX; if she merely said give it to them, she is
not nwTPn, however if she said they should receive it for me, then she is
nwmpn. The second section is the same as the first except she said to give it
“1795%°. The X3 first explained why in the first section it was necessary to
mention both '°3%) Xax, and then explains why it was necessary to have
both sections.” Our Moo discusses why all three cases are necessary

nooIN asks:
— AN N1P922 DOYD 20D ININ 9NN ON)

And if you will say; why does the previous X192 mention ‘your father’ -
— N8 231 9 TayinY RIIN) NOID 2219991 NARY

It would have been sufficient to mention only ‘to my father and to him’,
for then we would be able to derive the required ruling for all these cases.

N1B0IN answers:
— %15 1INY N1YY923 TOAN NN N7 1199 795 WINY PRT 999 U NNPYY

And perhaps one can say; that this is nothing to be concerned about,

since T7°28 was not taught in a Xn92 by itself, rather it was mentioned together
with Rax.

"If it would have just said ‘my father should accept it for me’, I would not be certain that if she said ‘your
father should accept it for me’ that she would be nwmpn. If it would just say ‘your father’, I would not be
certain that when she just said ‘give it to my father’ that she is not nwmpn.

% If only the section of 72X Xax was taught I would not know that by *11%5 072w n"y that she would be
nwTpn, and if only the section of *1175 was taught I would not know that 7°2&?1 82X 01n is not nwTpPn.

* T would know both rulings (21n and 292p°w n"y) by *11991 xax for they will be stated explicitly. I would
also know both rulings by 7°ax (even if it is not stated at all). I will know that if she said 7°2x> 0in that she
is not nwTpn, for if when she said Xax? 0in (whom she certainly trusts), she is not nwT1pn then certainly 2in
77285 will not be nwipn. I will also know that if she said *> a22p>w »"v 7°a8, oin that she is nwpn. For if
by 121 n"y *1799% 0in (whom she does not trust that much) she is nwTpPn, then by 191 2"y °ar> 210 (whom
she trusts more) she is certainly nw7pn. [See however the second answer of maoin.]

* We can and do discuss why Xax and Tax are mentioned in one section if one alone would suffice. There is
no reason to mention two instances in one section of a Xn»72 if one can be derived from the other. Once it
is established however that (in this section) both (7°2R) X2X) are necessary, then there is no (great) concern
why T°ax is mentioned in this section, if it can be derived from the other section of *1795%. This is not such a
powerful question since the section where it is stated (7°2871 X2X?) is needed to be written in order to teach
us the rule of X2x, (which could not be derived from the section of *1199%). See also n'"m.
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mooin offers an alternate answer:
— 5531991 7PN NI 59157 91219 WP M) ON

Or one may also say; that the reason the mn>12 taught 7°28 and 1795 is -
—MY9Y DIN NIINYI 90 NYTIPN MNIDT TNYT RPIDT DIVN

Because we may have thought (if it would not state 7°2X) that there is
more reason that she should be n27p» when she said »"v "1%5% 21n
0172w -

:6’”59 9% NYYI 29V NNYT NINOT ‘[’ﬂNb 0N NH9MINYIN
Than when she said 2172w n"v T9ax® 2in, for she is more trustful when

a stranger is in possession of the money than when his father is holding the money.
Therefore if the ¥n*972 would not have taught us 0%2p°w »n"y Tax> 0in we would have
thought that by (Xax and) *1799 she is nwTP», but by T°ax she is not nwTPn.

SUMMARY

The details in one section of a Xn> 72 relative to each other should not be
superfluous; however, relative to other sections of the Xn»72, the details are
irrelevant as long as the sections as a whole are not superfluous. People may
trust (certain) strangers more than their (prospective) in-laws.

THINKING IT OVER

1. How can mo0n assume (in the second answer) that she is nv7 7710 on 1199
more than on 72X, when the X 13 clearly states that by 7°2X) X2aX there is
more NVT N2°10 than on *11%9 (the X3 states 7 P72V 7720 175y INYT 7O107
RS *1199 SR ‘’mHw)?!’

2. What are the relative advantages of each of n1901n answers?

> moown is answering that even if it says that by o12ap"w »"y *1n99% 0in she is nwTPn, nevertheless it is
necessary to teach be this very ruling by m?2p>w »n"y 7°2x> oin.

% She may be more embarrassed to ask for the money from his father than she would be from a "1195. See
‘Thinking it over’ # 1.

7 See 7"nx footnote # 329.
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